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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 23 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer script during this period.
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ACCOUNTANCY

FreiRer o ;3 g2 ] [ e & : 80
Time allowed : 3 hours | [ Maximum marks : 80
T e

(i) TETIA-UT AT G A T & - & @ AT

(i) 9P F T O] % o sfAad & .
(iii) G % 9T 9T & S TH G FE 0 T ET FAE
(iv) gt gv7 & Ul 7T & 397 0F &1 & W fakaw |

General Instructions :

(i) This question paper contains three parts A, B and C.
(i)  Part A is compulsory for all candidates.
(iti) Candidates can attempt only one part of the remaining parts B and C.

(iv) All parts of the questions should be attempted at one place.
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W -
PART - A
(FAATHHTRT FITST, AR GHI G907 S % [0 eEieh=)

(Accounting for Not-For-Profit Organisations, Partnership Firms and Companies)

1. U FAT9HRI 9 gRI ST 3R W 914 S a6 [adid fgawor & 719 JqiRy | 1

Name the financial statement prepared by a Not-For-Profit Organisation on accrual
basis.

2. U WEER FR A T Qe & niEte % e § TR @eEnt StHEs & w6
3AE FIT | 1
State the provisions of Indian Partnership Act regarding the payment of remuneration
to a partner for the services rendered.

3. 3YFHI Vel IXd HHT U WIERR 1 & 6T 3797 F1 ATHRT 8far € 2 1
For which share of Goodwill a partner is entitled at the time of his retirement ?

4. UH EH & [T % el &1 T FHl See1@ AT | 1

State any two occasions on which a firm can be reconstituted.

5. T IR | T HH ROTTE % IMET T HIE TH o sared | 1

Give any one advantage for the redemption of debentures by purchase in the open
market ?

6. Trafafad g 9 31-3-2011 H GHIE g 99 % o0 = @ W A P, T &G @ °

3ifea A & feg, TomT Hifew | 3
99 2010-2011 | HIE I=1 - ¥ 3,40,000
31-3-2011 %l 31T =T T 47,000
31-3-2011 &l AW e °=1 T 35,000
1-4-2010 %t 3757 T=7 % 28,000
1-4-2010 1 S AT =7 | . REAEEOHE

From the following information, calculate the amount of income from subscriptions
to be shown in the Income and Expenditure Account for the year ended 31-3-2011 :

Subscriptions received during the year 2010-2011 T 3,40,000
Subscriptions outstanding as on 31-3-2011 T 47,000
Subscriptions received in advance as on 31-3-2011 T 35,000
Subscriptions outstanding as on 1-4-2010 T 28,000
Subscriptions received in advance as on 1-4-2010 T 25.000
INDIA
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7. S e F e fa | T10,00,000 & a7 5w AT 1 37 AR F 10% F I T i
I Ush =ieh % gRT 56T T | 919 T 61 I € 10 e & qHan 9, B 10% % 9
oy Tt fepan mram &, % gy T mar 3

37 fe1. it gl | STavas AsHmEn dfafedr St |

Jain Ltd. purchased Building for ¥ 10,00,000 from Gupta Ltd. 10% of the payable
amount was paid by a cheque drawn in favour of Gupta Ltd. The balance was paid by
issue of Equity Shares of ¥ 10 each at a discount of 10%.

Pass necessary Journal Entries in the books of Jain Ltd.

8.  ARmgur ot fA. 7 T 100 W dF F 7500, 12% FomE, f9% T 35 s & dithgs 0¥ i
AT o1, & foIT 2rmae st e | qof it 1 ST 3T7eeT 9T S 91 | 3

FA 10,000 FOTHT 3 T 365 W §U | 2500 F0T9E % [T STEEAT Sl & H fedr T
qT SAEe U A9 HT S T2 | 9 HTEEH! i RO HT S B A =T |

ST ISl o AT AR A o, 1 sl o AT A S |

Narain Laxmi Ltd. invited applications for issuing 7500, 12% Debentures of ¥ 100
each at a premium of ¥ 35 per Debenture. The full amount was payable on application.

Applications were received for 10,000 Debentures. Applications for 2500 Debentures
were rejected and the application money was refunded. Debentures were allotted to
the remaining applicants.

Pass necessary Journal Entries for the above transactions in the books of Narain
Laxmi Ltd.

9.  3THVT U WIS UF W § WIERR & S 5 : 3 & AT § o &ed & | 1.4.2010 I SH!
T A T TR ot ST T 60,000 T 3TIST T 80,000 | A U WX 12% WA a9 #
T Y ST 3 T SN W 15% i a9 F & F 40 o114 1 0 FH3 131-3-2011
TS EC Y % feIw SWied i ToEisE 9 T8 W H AT T 12,600 o1 | 9 % SR
3T I ST T 2,000 TAT ST F T 4,000 & | 3TET TN 2SI 1 1 &10 F3a1e1 @
AR HITT TN 7T TUMAISHT I T ST | BH H &104 &1+ 5l 597 H o O ¥ =31 fear
QT | 4
Arun and Arora were partners in a firm sharing profits in the ratio of 5 : 3. Their
fixed capitals on 1-4-2010 were : Arun ¥ 60,000 and Arora ¥ 80,000. They agreed to
allow interest on capital @ 12% p.a. and to charge on drawings @ 15% p.a. The
profit of the firm for the year ended 31-3-2011 before all above adjustments were
¥ 12,600. The drawings made by Arun were ¥ 2,000 and by Arora ¥ 4,000 during the
year. Prepare Profit and Loss Appropriation Account of Arun and Arora. Show your

calculations clearly. The interest on capital will be allowed even if the firm incurs
loss.
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10. 3, tﬁqﬁmwmiﬁwﬁaﬁm» 14 : 5 : 6% e 9 fawiea = € |
ﬁﬁaqohielmqﬂm%ﬁw\mmwm S 5T % T8 W NI ¢ | S i

W%zaﬁ%m%wwmwm %MHGM T s Ji9 it o e o
T G ¢ | se 9 a9t % o %A T 50,000, T 55,000 4T T 60,000 ¥ | HHM €9
I 3= Bl HT GERT A T 30,000 919 € | HH H ARl § SANG B ed Ued 9 &
% 75,000 3% & | {9 F EHY W F oA F a5 B H TGH Y FH AW T 1,00,000 ¥ |
YT TUETST T AT g EH I [kl § T % HESH a9l A faaRer i Savas
st gfafedr sifsy | 4

Arjun, Bhim and Nakul are partners sharing profits & losses in the ratio of 14 : 5 : 6
respectively. Bhim retires and surrenders his 5/25™ share in favour of Arjun. The
goodwill of the firm is valued at 2 years purchase of super profits based on average
profits of last 3 years. The profits for the last 3 years are ¥ 50,000, ¥ 55,000 &
% 60,000 respectively. The normal profits for the similar firm are ¥ 30,000. Goodwill
already appears in the books of the firm at ¥ 75,000. The profit for the first year after
Bhim’s retirement was I 1,00,000. Give the necessary Journal Entries to adjust
Goodwill and distribute profits showing your workings.

11. i et 3 3199 T 100 UF % 750, 12% ROGAT & O 6 HUiE foar | & 3500
SO o 39 T 94 WA FOIT H X F ol IR 4§ fRaT | 99 RO S e o 5 9
femar T | SHEOET T SHOT O VA BT B SIS HTH T H qAad &l a1 g ¢ |

ST AT & 1T HHAT Sl TEIDI H STF¥ae AT Ufaneat iy | 4

Shakti Ltd decided to redeem its 750, 12% Debentures of I 100 each. The company
purchased 500 Debentures at ¥ 94 per Debenture from the open market. The
remaining debentures were redeemed out of profits. The company had already made
a provision for Debenture Redemption Reserve in its books.

Pass necessary Journal Entries in the books of the company for the above
transactions.

-

12. T=faRad oHeAl % fau G2 . 6 el | eravas s Haredr S ;

() T 75 U=H F 750, 12% OIS H IET T 1oou?ﬁa;wmmmﬁﬁtrﬁa%ﬁaﬂa;
Toam |mma?rm%ao‘a§wﬁrﬁqﬁfqﬁmwm |

(i) T 1,000 UGF F 550, 12% ROTTH H 79 T 100 UdH & 13% HOT9a § gRaEtad
TS | 72 SO BT 10% o It W ifaa faar mar | 6

Pass necessary Journal Entries for the following transactions in the books of
Sudarshan Ltd.

(i) Redeemed 750, 12% Debentures of ¥ 75 each by converting into Equity Shares
of T 100 each. The Equity Shares were issued at a discount of 10%.

(i) Converted 550, 12% Debentures of ¥ 1,000 each into New 13% Debentures of
T 100 each. The New Debentures were issued at a premium ¢ INDIA
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a7 q YT WERR & a°r 3 ;1 % U H oy aied 9 1 31-3-2011 & 3 fefa

fareor i wer o 6
31-3-2011 =6t TAT qAT YT 7 Feafey faawor
et b —— i
z z

it - “fiy T o 70,000
Gl 1,20,000 R 60,000
i 80,000 | 2,00,000 | &R 80,000
[REACe . 70,000 | 5% 60,000
2,70,000 2,70,000

1-4-2011 1 H 3T THGF &1 T, TAT GEAFA] U 3811l I FHER0T (-8R §31
()  %50,000 % TSR g T YT F 39 316 F 07 Fuer 2q o femam |

(i) 99 TR S A 755 a1 T |

(iii) HIRI i 30% F Hedgd IT =1 74T |

(iv) AR & T 500 = AT W G A B TS |

(v) agert =g 1,7009 |

T F U % oI STrevges JeHTTE aredr S |

Verma and Sharma were partners sharing profits in the ratio of 3 : 1. On 31-3-2011
their Balance Sheet was as follows :

Balance Sheet of Verma and Sharma as on 31-3-2011

Liabilities Amogiit Assets Amount

3 3
Capitals : Land and Building 70,000
Verma 1,20,000 Machinery 60,000
Sharma 80,000 2,00,000 | Debtors 80,000
Creditors 70,000 | Bank 60,000
2,70,000 2,70,000

The firm was dissolved on 1-4-2011 and the Assets and Liabilities were settled as
follows :

(i) Creditors of T 50,000 took over Land and Building in full settlement of their
claim.

(i) Remaining Creditors were paid in cash.

(1i1)) Machinery was sold at a depreciation of 30%.

(iv) Debtors were collected at a cost of T 500.

(v) Expenses of realization were ¥ 1,700.

Pass necessary Journal Entries for dissolution of the firm.
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14.

31-3-2011 ! THIE §U oY &% foIq ‘U feoedt Fore” & FeAfaiaa ‘Wi Ue s @’ |

‘3T T FF @A TR I 6
31-3-2011 %1 HATH g0 a9 & 1w i faeett s’ &1 Wi O §raT @ar
qJH STHT
vy 4i® § @0 13,200 | 3FF (11 WEH W 2,200
)
== 25,500 | fertmam 800
YA Yk 2,000
TH (Wed & few ¥ 1,000 3,000 | fe=tedt 3,500
gftsferd)
&t ol e 2,500 | & 2,600
frawn =1 fowg (T 3,500 | T & = 800
HrH £.000) LisED 10,000
9% T ST W9 13,000
(31-1-2011)
I 0 A ™ 16,800
49,700 49,700
From the following ‘Receipt and Payments Account’ of ‘Green Delhi Club’ for the
year ended 31-3-2011, prepare ‘Income and Expenditure Account’.
Receipts and Payments Account of ‘Green Delhi Club’ for the year ended 31-3-2011.
Dr. Cr.
Receipts Am;unt Payments Am;unt
To Balance b/d 13,200 | By Salary (paid for 11 2,200
months)
To Subscriptions 25,500 | By Rent 800
To Entrance Fee 2,000
To Donations  (includes 3,000 | By Electricity 3,500
T 1,000 for Buildings)
To Hall Rent 2,500 | By Taxes 2,600
To Sale of Investments 3,500 | By Printing and 800
(Book value Stationery
3 4,000) By Books 10,000 |-
By 9% Fixed Deposits 13,000
(on 31-1-2011)
By Balance c¢/d 16,800
49,700 INDIA
TODAY sin
6
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15. @ a1 7 RIS 9 991 3 : 2 % U | o ared o | 31-3-2011 W 37 fefa e

1 U o 8
31 \T 2011 T T FqT T 7 el fawor
. T , wfer
Fgant et
4 4
it i @& 9aA 80,000
g 60,000 ENIEE] 20,000
“ap 40,000 1,00,000 | ®HA=T 10,000
gad ®oT & fore wra 1,000 | F_R 25,000
T_R 60,000 | TFHE 16,000
ATY-B11 @il 10,000
1,61,000 1,61,000
‘H'ﬁﬁﬂ%{hﬁmﬁ%%aﬂwww%%ﬂm%%{qumww;
(i) o TaHIeT a1 S 2 ;2 ¢ 1 v fo @
(i) = T 30,000 39 I5T & AT AR A1 T 15,000 T % 219 90T & AT A
(iii) 399 9 ST HT 307 907 39 WEER 7 Hprer orar BE= 797 &Y & 90 $1 &GnT
‘W H T H AT or |
(iv) SERI U gad aul WY KTt % AT 5% 1 WEE S v |
(v) OFERI ¥ |iferd T 500 U BE 1 A el ST o |
(vi) ®H % faeg T 800 & T &1l & & & [T U ST o |
SIS FHRISH & T99 @ T T F S @il w1 geEeE w5 IS % SR 0
AT °T, T [o1¢ IRIATT AR VHE 1€ ST ST ST ST (5 S |
TAHGAIHA WA, WIRERI % STt @I o7 78 4 1 fegle faewor §ar S |
a FrET
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67/1/1

S, P T TE TH FH A WEER o S e B 7:2:1 F ST 7 g w4131
A, 2011 & &4 1 fefa faavor famam o

31 |T= 2011 Wt S, P 9T ‘TH w1 FRafa-faavor

. T . RIR
FETEt qefaat
4 4
i ez 40,000
‘i 70,000 ity qen Yo 60,000
2 20,000 TR 40,000
T 10,000 1,00,000 | =i 7,000
= 9 20,000 | 38R 12,000
2 T RO 30,000 | TwE 5,000
AR 14,000
1,64,000 1,64,000

24 3T 2011 ¥ B g B TE | KA ot WEER F g W IuH! UST A o T

grat & faer & fow wEeRt dow 9 fFefafes e g e

@) Wwﬁmﬁﬂ%ﬁ?wmwéﬁw%mﬁ@ﬁﬁhaﬁ%aﬂww

& YR W & S 5 T 80,000 9T |

(i) TRl % [AHedRA T SASIRET % T: (URr § geh WS & o 81 1 379,

ﬁﬁ'ﬂﬁﬁl’(%

o qur waq 1 AHedEA T 94,000, TR @ T 38,000 @HT wiE H
% 5,000 foram T |W%ﬂﬁ$mﬂmwzl%wamﬁmﬁww |

(i) Taer gty st §° o IR @i < o, mmaﬁﬁwmﬁﬁﬁwﬁﬂé fSTaeRT

A a5 § forar s |

QA @I, ISR % ISl @, T % STiasRl & @l a9l ‘S 0d ‘s & &
faerur GaR it f=1A 307 5T @l S T T ST e 5 a9 H 9] W6
=1 Treag forar & | st off siferrr an =6elt =t SRR & =16] @l H WA # e

ST |
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B’ and ‘C’ were partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as
on 31-3-2011 was as follows :

Balance Sheet of B and C as on 31-3-2011

Amount Amount
Liabilities Assets

3 3T
Capitals : Land and Building 80,000
‘B’ 60,000 Machinery 20,000
i 0 _40.000 1,00,000 | Furniture 10,000
Provision for bad debts 1,000 | Debtors 25,000
Creditors 60,000 | Cash 16,000
Profit and Loss Account 10,000
1,61,000 1,61,000

‘D’ was admitted to the partnership for 1/5" share in the profits on the following
terms :

(1) © The new profit sharing ratio was decided as 2 : 2 : 1.
(i) D will bring ¥ 30,000 as his capital and ¥ 15,000 for his share of goodwill.

(1) Half of goodwill amount was withdrawn by the partner who sacrificed his
share of profit in favour of ‘D’.

(iv) A provision of 5% for bad and doubtful debts was to be maintained.
(v) Anitem of ¥ 500 included in Sundry Creditors was not likely to be paid.
(vi) A provision of ¥ 800 was to be made for claims for damages against the firm.

After making the above adjustments the Capital Accounts of ‘B’ and ‘C’ were to be
adjusted on the basis of D’s Capital. Actual cash was to be brought in or to be pald
off as the case may be.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm.

OR
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‘G’, ‘E’ and ‘F’ were partners in a firm sharing profits in the ratio of 7 : 2 : 1. The

Balance Sheet of the firm as on 31° March, 2011 was as follows :

Balance Sheet of ‘G’, ‘E’ and ‘F’ as on 31° March, 2011

Amount Amount
Liabilities Assets
3 4

Capitals : Goodwill 40,000
‘G’ 70,000 Land & Buildings 60,000
‘B’ 20,000 Machinery 40,000
o _10.000 1,00,000 | Stock 7,000
General Reserve 20,000 | Debtors 12,000
Loan from ‘E’ 30,000 | Cash 5,000

Creditors 14,000
1,64,000 1,64,000

‘B’ died on 24" August 2011. Partnership deed provides for the settlement of claims
on the death of a partner in addition to his capital as under :

(i)  The share of profit of deceased partner to be computed upto the date of death
on the basis of average profits of the past three years which was ¥ 80,000.

(i) His share in profit/loss on revaluation of assets and re-assessment of liabilities

which were as follows :

Land and Buildings were revalued at ¥ 94,000, Machinery at ¥ 38,000 and

1
Stock at ¥ 5,000. A provision of 25 % was to be created on debtors for bad and

doubtful debts.
(1i1)

to be paid later on.

The net amount payable to ‘E’s executors was transferred to his Loan Account,

Prepare Revaluation Account, Partner’s Capital Accounts, E’s Executor A/c. and
Balance Sheet of ‘G’ and ‘F’ who decided to continue the business keeping their
capital balances in their new profit sharing ratio. Any surplus or deficit to be
transferred to current accounts of the partners.

10
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16. vam T 3 T 10 9% ¥ 80,000 FHAT 391 & Fiw % forw saes smf=a fa | &1 aien
I T 40 wia ier & wifaas w fifaa s ar | iy = sgam e T | S o 8

FeET W T 35 ufa 3iwr (T 30 wifaam |tmte)
areed W T 8 ufq 3w (T 4 vifthay gfmfe)
Ty Ue 3T I W — 9

77,000 3T % foTT 3TERA WIEt §U | W STAGH! i S9N H A6 HX (<91 T | oL,
9 7,000 39T T e AT T 91, 7 e AT H T T A | e % qi
v 39% 3 I SFed HT foran M1 | Ay wud Ud i greAn 5l T | 6o,
% U 500 3791 &, 7 T U AT AT FH P T2l FAT | IHH ST B Al =T
T forar T | ST T T Sie B ® 1,000 39T 0 T 50 Wi 9 S & W U WEW I
fortem o2 T mran | g it R v oot © gegw < ot 39 Sl o |

v 1. Sl sl § SWIS TSl & (61T SATavash IsHHEE1 Afanedt Hitg |
Yar

S A 7 T 10 uEE F 35,000 FHAT 39 B 10% F 5z W T & F oo emEes
st T | iR 1 A 7 TR | T o

3TeEA W T 5 Ul 3w
3Eed W ¥ 3 ulq 379

T YT A I 9 - 99

50,000 3Ii % feTT 3TEEH Wl §W | 8,000 3i¥0 & 61U eMaeai & 1§ & faan mar aur 3
AT I AT TR AF FX T | WG SATHI 6l ST HT A STANAH SER T
fora T T 3 STORH W SEET W AT SAffa TR 1 FHE S W3 T H
R T mar | Sem F 600 39 F AT EeT A o | SEE SEe A 99 v ud
A9 GrEET TR 61 PIAF A&l 6a1 | 76, ST 400 27917 1 W o1, 5 999 U =9
JraT TFRT ST ST T et | Siia T TalA % 3791 w1 ST < foran T | S {6 T
379t 9 ¥ 800 3¥9i i T 15 Wi siwr qot wew g Fifie s fear | '

o Tifee o6 T Sie | 79 % @l of 9iied 9 | SWis @aeAl % 6T 59
fe1. & Qe § Savas s Hfafedt S |
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Shyam Ltd invited applications for issuing 80,000 Equity Shares of ¥ 10 each at a
premium of ¥ 40 per share. The amount was payable as follows :

On Application ¥ 35 per share (including ¥ 30 Premium)
On Allotment ¥ 8 per share (including < 4 Premium)
On First and Final Call — Balance

Applications for 77,000 shares were received. Shares were allotted to all the
applicants. Sundram to whom 7,000 shares were allotted failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the first
and final call was made. Satyam the holder of 500 shares failed to pay the first and
final call. His shares were also forfeited. Out of the forfeited shares 1,000 shares
were re-issued at ¥ 50 per share fully paid up. The re-issued shares included all the
shares of Satyam.

Pass necessary Journal Entries for the above transactions in the books of Shyam Ltd.
OR
Jain Ltd. invited applications for issuing 35,000 Equity Shares of ¥ 10 each at a
discount of 10%. The amount was payable as follows :
On Application ¥ 5 per share.
On Allotment ¥ 3 per share
On First and Final Call — Balance

Applications for 50,000 shares were received. Applications for 8,000 shares were
rejected and the application money of these applicants was refunded. Shares were
allotted on pro-rata basis to the remaining applicants and the excess money received
with applications from these applicants was adjusted towards sums due on allotment.
Jeevan who had applied for 600 shares failed to pay allotment and first and final call
money. Naveen the holder of 400 shares failed to pay first and final call money.
Shares of Jeevan and Naveen were forfeited. Of the forfeited 800 shares were
re-issued at ¥ 15 per share fully paid up. The re-issued shares included all the shares
of Naveen.

Pass necessary Journal Entries for the above transactions in the books of Jain Ltd.

arT-g
PART - B
(ferefrar Tt =t farversom)

(Financial Statements Analysis)

17. Rt & fou foaxig faaron & faveun & 92w =1 SooiE S | 1

State the significance of Analysis of Financial Statements to the ‘Lenders’.
INDIA
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18. Uehg WaTE faawor S 1 3299 e | _ 1

State the purpose of preparing a ‘Cash Flow Statement’.

19. ‘T FaeE HFE g RO F AGUEU & [T TR YA H s v fqawr s
T g w6t ifafaty &t S 2 1

While preparing Cash Flow Statement what type of activity is, ‘Payment of Cash to

acquire Debentures by an Investment company’ 7

20. 3fum, for. o1 9] 39 3.5 ¢ 1 T aeral SO 2 ¢ 1 ¥ | 9 W@ieh §RT AfaHtae st
THaTe =] Tl U dXel gt ® SR T 1,50,000 ¥ o 9] gt 9w 9w
AT I TOHT HITT | 3

O.M. Ltd. has a Current Ratio of 3.5 : 1 and Quick Ratio of 2 : 1. If the excess of
Current Assets over Quick Assets as represented by Stock is T 1,50,000, calculate
Current Assets and Current Liabilities.

21. Frefafed goan & Frefataa @ 9 =Tt sFuml =) o s 4

FEAT ;. WHA A G T 50,000 ; HERE GG T 5,000 ; TR SO AN 0F FF
TIAE &% a8 T 15,000 ; 9% T T 20,000 ; HHEE T 15,000 ; YT T4 9@ T 65,000
I T 15,000 ; SRR T 14,500 T Vhg T 5,500 ; 390 o 87 o 521 T 5,000 |
31-3-2011 St THTS gT 99 % A0 fassa T 1,50,000 &1, 6T 5T 50% |

From the following information, calculate any two of the following ratios :

(a) Debt-Equity Ratio

(b)  Working Capital Turnover Ratio and

(c) Return on Investment

Information : Equity Share Capital ¥ 50,000, General Reserve T 5,000; Profit and
Loss Account after tax and interest ¥ 15,000; 9% Debentures ¥ 20,000; Creditors
T 15,000; Land and Building ¥ 65,000; Equipments ¥ 15,000; Debtors ¥ 14,500 and
Cash ¥ 5,500. Discount on issue of shares ¥ 5,000.

Sales for the year ended 31-3-2011 was ¥ 1,50,000. Tax rate 50%.
INDIA
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22, 31-3-2011 %t T fo1. =1 219 feawor 99 ush o

fraror Ity
4
HAME
| fasra 2,00,000
A A 15,000
FA ™ 2,15,000
Y
9 T IS B AN 1,10,000
YA 5,000
P = 1,15,000
HT 40,000

31-3-2011 %t GHT 8T o % forw T7 e, =61 =T Sieh 1 37 foramot o ity |
Following is the Income Statement of Raj Ltd. for the year ended 31-3-2011 :

Particulars Rt
4
Income :
Sales 2,00,000
Other Incomes 15,000
Total Income 2,15,000
Expenses :
Cost of goods sold 1,10,000
Operating expenses 5,000
Total Expenses 1,15,000
Tax 40,000

Prepare a common size Income Statement of Raj Ltd. for the year ended 31-3-2011.

67/1/1
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31-3-2010 T 31-3-2011 3 T4 e, & FreAferfas feafa faaon 9 Uee varE faerur dar

FHITT
- il 31-3-2010 31-3-2011 <o 31-3-2010 | 31-3-2011
z z 4 4
AT 39 S 1,00,000{ 1,50,000| &= 12,500 11,250
Jo 1,50,000| 1,50,000
AN @ 25,000| 50,000 | = 18,750
TER 50,000 63,750
ek 0T 50,000| 25,000 |=F 2,500 3,750
TREATTe AT 20,000  15,000|TFs 5,000 21,250
HT T 10,000| 17,500
TTR_R 15,000 11,250
2,20,000| 2,68,750 2,20,000| 2,68,750
At o=

9 | T 50,000 TF Hod & A H fasha T 2,000 H @ W R T q HeA W
% 4,000 T HeF B ST 74T |

From the following Balance Sheets of Sonam Ltd as on 31-3-2010 and 31-3-2011

prepare a Cash Flow Statement :

sttt 31-3-2010| 31-3-2011 o 31-3-2010 | 31-3-2011
4 4 T 4
Equity Share Patents 12,500 11,250
Capital 1,00,000| 1,50,000|Building 1,50,000| 1,50,000
Profit & Loss Investments - 18,750
Account 25,000 50,000 | Debtors 50,000 63,750
Bank Loan 50,000 25,000 [ Stock 2,500 3,750
Proposed Dividend 20,000 15,000 Cash 5,000 21,250
Provision for tax 10,000 17,500
Creditors 15,000 11,250 _
2,20,000| 2,68,750 2,20,000| 2,68,750

Additional Information :

During the year a Building having book value T 50,000 was sold at a loss of ¥ 2,000
and depreciation charged on Building was T 4,000.
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WAT - 77
PART -C
(Computerised Accounting)

(rfusmfers daisT)

17. SO &1 Yoo Fd9d S 8 e Hd 8 ? 1

How does the usage of computers help the business 7

18. Tt @ ot SM7afed Hie H UYH 3 o o1 AMUE € 2 1

What is meant by the first digit in the ‘code’ allotted to an ‘Account’ ?

19. # 37Fa (7eT) ARG FATE 2 1
What is #Null Error ? -
20. HIHGH d@iHT 9ead? & el diF Telvl & TOEEy | 3

Explain any three features of Computerized Accounting Software.

21. S UH UH 1 E 2 THE A 00 B G | 4
What is DBMS ? Explain its three advantages.

22. WESRIEITE UTHY § FHHANE! % 21 9 i M0 1 & (¢ Fa % =00 i felf@n | 4

Write the steps of a query to compute D.A. for employees in Microsoft Access.

23. (®) TF=AfAfiEd GoAT ¥ IS0 S AR B T0ET FE H 60 TRd W EH S T0E

I | 2+4=6
% 12,000 % HoT 90 T 10% % T | T 12,000 T 3119 Ht T W 20% H T F
(U g H1-2 ° wef)

@) UHA & 39 fawg FE § A9 g0 §¢ SRy Mew I o uE afayfa &
IS = Y 0T % feAw foan s € S stratus s e E ;

(a) Calculate the formula from the following information on Excel for computing
the amount of conveyance allowance. Basic salary upto to ¥ 12,000, @ 10%,
for more than X 12,000 @ 20%. (Basic salary is projected in C,)

(b) Name and explain the financial function of Excel which is used to calculate
accrued interest for a security that pays periodic interest.
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